
Read and Write Numbers to 10 000 000 
 
1) Write the number represented on the place 
value chart in numerals and words. 
 
 
 
 
 
 
 
 
 
2) Write the numbers in numerals.
 
a) 
 
 
 
b) 
 
 
 
c) 
 
 
 
3) Write the numbers in words.
 
a) 
 
 
 
b) 
 
 
 
c) 
 
 
 
4) Follow the instructions. Write the number you end 
with in numerals and words.

M H T O H T O

four and a half million

six million, eight hundred and six 
thousand and fifty-one

nine million, fourteen thousand, 
three-hundred and forty

1 502 567

9 098 283

5 341 080

Start with the number 6 035 692.

Add 40 000.

Subtract 2000.
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Read and Write Numbers to 10 000 000 
 
1)  Explain the mistakes that have been made 
when writing each number in words. 
 
a)

b)

c) 
 
 
 
 
 
2)  Which is the odd one out? Prove it. Can you give 
three different answers? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
3) Tanya has partitioned the number 5 402 913 into 
three parts. Explain one thing she has done correctly 
and one thing she has done incorrectly.

eight million, one hundred four 
thousand, seven hundred and ninety

8 104 790

one million, three hundred and fifty 
thousand and seventy

1 350 007

three million, two thousand, one 
hundred forty-six

3 002 146

3 172 062A

3 194 072B

4 192 061C

5 402 913

5 000 000

420 000

913
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Read and Write Numbers to 10 000 000 
 
1) Write six different 7-digit numbers using 
each word no more than once. You do not 
need to use all of the words for each number. 
Then, write each number in numerals. 
 
 
 
 
 
 
 
 
 

2) 
a) Identify the 7-digit numbers that match the clues.
Write the number in digits and words. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

b) Write three more clues that fit both these numbers.

hundred      and      thousand

five      million      nine

The millions digit is 3 times the 
hundred thousands digit.

There are only two odd digits and they 
are adjacent.

The number is between 6 000 000 and 
7 000 000.

The hundred thousands digit is half the 
thousands digit.

The number is a multiple of 10.

The odd digits have a difference of 8.

The ten thousands digit is the answer 
you get when you multiply the first 

digit by the last digit.
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